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A 25, ~125, 625, 3125, ... T ndl 4g 1
27

(a) (-5t

(b) (-1 5™

(¢) (-1 151

{d} f—l]n_l 5n+l

qH #ifee X = (1,2, 3,4 8 IR X W TH
Hag & 1 A R = {(1, 1), (2, 2), (3, 3), (1, 2),
(2, 1), (2, 3), (3, 21 2, o Fr=ferfiga & & ®F-
U HH 7 7
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(d) R Eqed & 3 T & whms 2, g
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YA FEATHl % TH=E N W UF HEY R 39
mﬁﬂﬁmﬁﬁ%ﬁﬁxﬂy:}xz—4xy+ﬂy2=ﬂ
Al faffer d e s es v 2 7

(a) gﬁgﬁaﬂ?wﬁﬂﬁ,ﬁﬂmﬁ

(b) R T@ged 3R @Fms 7, fhg wwfim 76
2

(c) R TG, GHfE 3 @EEE 8

(d) R @de9 &, fFg 98 7 @ 9ufim & s =
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(2-A)

afe AT
B=Ixez:x2+x+lzm%,"ﬁfﬁ2ﬁ¥
T &1 ag=g 8, 9 A N B s s g o
(a) Teoa wg=a

o {-1+J§i) —1—J§i}

2 2

A=(xeZ:x321=0)

4 4

{—14-J§i —l—v@.i}
{c) ;

i {hﬁij 1—4’51}
2 2

T wfted wg=El A o B % fom fafafiaa
FeAl W fEw Fifio .
1. (ANBIUMANBIU(ANBI=AUB

2. (AU(ANB)I=AUB

I FEH B " R T A 0
(a) hae 1

(b) Hae 2

(¢) 13 2gHt

(@ FTar 1A% 2

T ifw X v 21fEa o= 2 o e i
A, B, C 9y=4 X % Imoqg= & | Pl
FeHT W famm ifaw -

1. AcC=(ANB)c(CNB),
(AUB)c(CuU B}
2. (ANB)c(Cn B)AH B ay==l & ferw
=Ac(C

3. (AUB) c(CUB) Taft B gg=ai & feru
=AcC
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(a) whad 1 N 2

(b) “heel 2 R 3

(c) heer 13 3
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What is the n™ term of the sequence|d.

23, 125, 625, -3125, ... 7

(a) - (-5

lh} i_lﬁﬂn Eﬂ'ir]

L

[_'d:] {_ 1-:III~—J. 5I1+1

Suppose X = {1, 2, 3, 4} and R is a relation on

X.IR=1((1, 1),(2,2),(3,3),(1,2),(2,1),(2,3),

(3, 23}, then which onc of the Illowing is

correct 7 B

{a) R is reflexive and symmetric, bul not
transitive

{b)> R is symmetric and transitive, but not
reflexive

fe) R is reflexive and transitive, but not
symmetric

{d) R is neither reflexive nor transitive, but
symmetric

6.

A relation R is defined on the set N of natural

numbers as xRy = x° - dxy + 3y = 0, Then

which one of the following is correct ?

{al R is reflexive and symmetric, but not
transitive

(b} R is reflexive and transitive, but not
symmaetric

fe) R iareflexive, symmetric and transitive

(d} R isreflexive, but neither symmetric nor
transitive

(3-A)

IfA=ixeZ:x"~1=0}and

B={xe Z:x"+x+1=0], where Z is set of
complex numbers, then what is A N B equal
to?

{a) Null et
i {wllu@i?—]--uﬁi]
2 2 |
[-1+48i -1,,4"51}
(e} , -
| 4 4
s {11J§i,}-\!§i}
2 2

Consider the following statements for the two
non-empty sets A and B :

1. ANBIUMANBIUANBI=AUB

9. (AU(ANB))=AUB

Which of the above statements is/are correct ?
{a) 1only

(b) 2 only

{c) PBothland2

{d) Neither 1 nor 2

Let X he a non-empty set and let A, B, C
be subsets of X. Consider the following
statements ;

1. AcC=iANB ciCnB),
AUB c(CUB)

2. (ANBIc(CNB)forallsets B=AcC
3. (AUBJciCUB)forallsetsB=AcC
Which of the above statdemanta are correct 7
(a) 1and?Z2only

(b) 2 and 3 only

(e} 1and3only

fd) 1, 2and 3
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(k) 0 0 =1

0 0 2
ey |0 0 1

(d) A% Aftas 78 & 13.
FHE |x°—x~6| =x+2 A FE?

(a) —-2,1,4
(b) 0,2,4
(e} 0,1,4
d -2,24

9. Hﬁazﬁ }%,?ﬁmalj!&%

1
0

(a) STegTREfg STTeTR
(b) HAHTHIT IR

(el ?Hﬁl?ﬂ AR
(d) eFfam wegE
x =3 1
10. I |w 1 i
|0 2i —i
AT FHI: T 2
(a)] —3,4
(h) 3,4
e} 3,—4
d) -3,-4

EDF-S-DGY

11.

12,

14.

=6+ 111 %,Eﬁxaﬂ'ﬁy%
15.

(4-A)

“23+232+22+1:[}3ﬁ1
20T, 21810 % ord g

(a) =1,
b 1,0
€@ -1,
d)  w w

I €20, n +2) = C(20, n — 2) %, A1 n fFTH
T 2 2

fa) 8

(by 10
ey 12
dy 16

o grae W 10 fag @ 1 5 fagat 1§ =i ot
T fog v wie v | 6 § | 3wt et
1 Fa wen feaft & 5 = fargedi 1 Sew
TS T AT £ 2

(a) 90

(b) 45

(e} 40

(d) 80

aaﬂtb,mpxz+qx+r:0{ﬁiﬁp,q,r
aft vene B) ¥ fm amafes m@ § O
ffafen 0 5 R ws @@ 2 ¢

fa) a=0 b=0

ib) a<0 b<0

ic) a=0 h<0

(dy a<0 bh>0

T A=, w)) B, @ AF EE o= (Wa
#e) 2

(a)  {d, o), (A1, fA, )

(b) {9, (A, ([, pl), (A0, wiH

(e) o, (A, th, uhy T, 1A, i)

() HAL [ uh (A (R, e
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3 2 0 11.
e IrEB —{2 4 DW, then what is adjoint of B
|1 1 of
equal to ?
[0 0 0
(a) ] 0 0
~g w1 8]
0 0 - 2]
b |0 0 -1 o
0 0 8 J
0 0 2
(c) 0 0 1
o 0 0
(d} It does not exist
13.
8. What are the roots of the equation
|x% —x 6| =x+2? -
(a) -2,1,4
(b) 0,24
ed 0,1, 4
d) -2,24
r} 1} —
2. If A= , then the matrix A is a/an
L4y 14.
{a) Singular matrix
. (b} Invelutory matrix
{e) Nilpolent matrix
(d) Idempotent matrix
% =81 1
10, If |y 1 i |=8+11i, then what are the
0 2i - iJ 15.
values of x and ¥ respectively ?
fa} -3,4
(by 35,4
(e 3,—-4
(d}y -38,-4
EDF-S-DGV (5-A)

The eommon Toots of the equations
z° +22° + 22+ 1=0and zmw+;2ma+1={]
are

(a) -Lw

b 1,0

e} -1, '

() w0

If C(20, n + 2) = C(20, n — ), then what is n

equal to ?
(a) 8
(by 10
e} 12
tdr 16

There are 10 points in a plane, No three of
these points are in a straight line. What is the
total number of straight lines which can be
formed by joining the points ?

(a) 90
(b) 45
(e} 40
(d) 30

The equation pxz +gx + 1 =0(where p, g, r, all
are positive) has distinet real roots a and b,
Which one of the following is correct 7

(a) a>0 b>0

by a<0, be<0

ey a=0, b0

id) a<0, b=0

If A = {A, [4, i}, then the power set of A is
(a) o 101 14D, (A it

(b) Ay, 1A}, Ha, bl 1404, i)

Ced (o, (A AR, s (g A, )

(dy (A, (2, i, 12 A, i
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w31 AT 02 (F) wvET @ o Rl we

foreht foremem |, wfi om 69 s o @l (F9ER
) — yrae, & oin ae o § HRaHe
we @erd ¥ | 60 9T T W §, 50 Twe 2w
aed 8, 48 W Wew ¥, 12 oy ofi w3
wed #, 15 %W i daw fwm A @e €
20 e & offt v AT G #

16.

17.

18.

EDF-S-DGV

foemera § ol @ =gEEn dEm F= A g
L :

(a) 123
(b) 111
(e} 95
d) 63

famem #@ ot it wfieon gen feaht B
Hepell & 7

(a) 111
(b) 123
(e) 125
(d) 135

M A Wil 3 F UF dEE AEgE R, @
TEHIEEH qfae (AY

(a) YT SR o qUA R
(h) A FE ¥
{e) 8A % =TT B

@ o e Td 2

19.

20.

21.

(6-A)

A, #ifE 3 F W vER F uw T g §
TWE i H OWE 4 B | ek ufEd &
e Rocics b

(a) 64
(b} 36
(c) 32
(dy 4

6 Wil o 4 efiel o @, ve walem
5 =aferal ) el e = @ | 7R feet wen
# form s wwar @ wifes HAAFH uE el
1 el STavg w2

(a) 209

(b) 210

(¢) 246

(d) 242

[(2x — 3y)® (2x + 8y)*)? & fomm # @
T 4 E 2

(a) 4

b 5

() 8

(d) 16

1+ ax)" o feream o, weet 17 92 A 1, 12x
¥ 6ax* & | n forerh aran # 2

(a} 6

by 8

(e} 10

d) 12
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Consider the following for the next 02 (two)
iftems that follow :

In a school, all the students play at least one of

three indoor games — chess, carrom and table

tennis. B0 play chess, 0 play table tennis, 48 play

carrom, 12 play chess and carrom, 15 play carrom

and table tennis, 20 play table tennis and chess.

16, What can be the minimum number of students
in the school 7
(a) 123
(by 111
e}y 95
d) 63
17. What can be the maximum number of
students in the school ?
ay 111
by 123
(el 1256
idy 135
18. If A is an identity matrix of order 3, then its
inverse (A7)
(a) isequal to null matrix
(b) isegualto A
{e) isequal to 3A
id) does not exist
EDF-5-DGV

19.

21.

22,

(T—A)

A iz a square matrix of order 3 such that its
determinant is 4. What is the determinant of
its transpose ?

(a) 64
(b) 36
(c) 32
dy 4

TFrom 6 programmers and 4 typists, an office
wanta to recruit 5 people. What is the number
of ways this can be done so as to recruit at
least one typist 7

(a) 209
(by 210
(e} 246
(d) 242

What is the number of terms in the expansion
of [(2x — 3y)% (2x + 3y)°1° 7

(al 4
(b} &5
(e} 8
(d} 16

In the expansion of (1 + ax)", the first three
terms are respectively 1, 12x and 64x>. What

isnequal to ?

(a] 6
by 9
{e) 10
(d)y 12
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23.

24,

25.

26. 25 cosec” x + 86 sec® x T ZFAAH HH AT
5y 30.
(a) 1
(b) 11
(e} 120
@ 121
EDF-S-DGV (8-A)

A 1, 5 3R 25 o9 Ug (HETE w9 HOEE
STTaTEE TE) & g §

+ac] Uh AP

(b) Tk ¥ s w uftfis dem § APs
(¢) Faitfim T § APs &
afefia s # GPs %

(a)

(d)

fortlt AP (p + q)d 3R (p — q)F W& T ATHA

R
(a) (2p)d 9% %
(b)  (2q8 98 %
(¢) pd IS HTHH

(@) of TBHGHF

qg A, HIR n > 1 & T T A=ZE B, q
f=fofea 4 4 901 v od 2 2

{a) deti—A)=detA

(b} det{-Al=(—1"detA
() det(—A)=—detA

id) deti—A)=ndetd

Tt Hr arer 02 (F1) Al & fore Ferforfe @
faeme &ifae :

H i A W B, (3 x 3) g B @
dﬂtﬁ=43ﬂidetﬁ=3% I

27. det (2AB) foross suet 2 7

28.

(a) 96
(b} 72
. (e} 48
id) 36

det (3AR™) bereh =t 2 9

fa) 12
(b) 18
{c) 36
(d) 48 ,
T ST are 02 (F1) FvAT & fow At o
fareme it -
- U% Gy HEN W OWRR 4 M §
o 1+2l
;P

29.

z T HI9h 991 & 7
{a)
(b}
(c)

[ i

b=

id)

2 1 Q& I 01 8 ?

(a) O
T

(3] —
L

brd

(el -
“ 3
id) =
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28. The numbers 1, 5 and 25 can be three terms | Consider the following for the next 02 {two)
{not necessarily consecutive) of items :
Let A and B be (3 x 3) matrices with det A =4
{a} - only one AP
and det B = 3.
{b)  more than one but finite numbers of APs
(e}  infinite number of APs 27. Whatis det (2AB) equal to?
idy finite number of GPs (@) . 96
by 72
el 48
24, The sumof (p+q) and (p—q)" terms of an
AP is equal to
28. Whatis det(3AB™) equalto?
(2)  (2p)™ term @ 12
(b) {zq]ﬂ.‘l s th) 18
ic) a6
{¢) Twice the p™* term (d) 48
(d} Twice the qth term
Consider the following for the next 02 (fwo)
ilems :
A lex number is gl by z= A
25. If A is a square matrix of order n > 1, then coTap B LR 1—d =2
hich following i 7
o ok the Sollowing iecourecy 29, What is the modulus of 2 7
det (- =det A
(a) et (— A) @ 4
{C} det {— ﬁ:l == det A (U:l 1
(d) deti-A)l=ndetA 1
d =
2
26. What is the least value of |30, What is the principal argument of z ?
25 cosec’ x + 36 sec? x ?
(a} 0
fa) 1
T
) 11 ) 7
{c) 120
(c) —;‘-
dy 121
(dy =
EDF-5-DGV {9-A)
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sin 34° cos 236° — sin 56° sin 124°

81, _ )
208 25 a 85" 7 508 178 sin g8 7 1 |86, BIWI ¥R WIS
27 (a) -1
(a} -2 ' (by 0
ithy =1
) ) ':G} 1
) 1 d) 2
32. tan 54° FI Few wer sl RRar S wwa | ST o Tt 02 (31) St @ farg Rt w
27 frerry ifore
(a) B 0 008 0 78 fom T R fF cos (0 - o) =a, cos (0= P =b
&in 9% — cos 9° .% |
(b) gin 9° — cog 8¢
i +-:.5t:}55 36. cns(mwﬁ}mmg?
© cos 9% 4 gin 9°
cos 9% — gin 9° ' E&:l ab + ||1 . 32 \.II]. » bl&
(d) sin 36° )
cos 36° () ab—1-a2 J1-b?

man#mﬁ:as (1) wat & ferg Aot o (© ayl-bZ —by1-a’
A p=Xcos 0-Ysin®,q=Xsin0+Ycos 0
3 p? 4 dpg + o° = AX® + BY? &, ol

(d ay1-b% +by1-a2

87. sin® (-3 + 2ab cos (o ~ ) frees woar & 0

DsB< ﬁ' g1
33. 0 O R 2 (a) a4+ b?
@ 3 (b) a®-1b?
w e) b?-a?
3 @  -(a2+bd
(c) E
. 88. M sin o + cos o = p B, A cos® (20) TFEH
6 R 7
34. A HEAFIR 7 @ g
::i : (h) p2 -1
© 2 (@  pi2-p%
(d) 1 ) pP+1
EDF-S-DGV (10-A)
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831. What is the value of 35.
sin 34° cos 236° — sin 567 sin 124"
cos 28 cos 88° + cos 178 sin 208°
ia) -2
ihh -1
icy 2
id) 1
32, tan 54° can be expressed as
(a) ain 9° + cos 9°
) gin 9° — pos 9°
gin 9% — ooz 97
b a0
) zin-9° + cog 9°
36.
() oos 9° + sin 9°
cos 9° — gin 9°
sin 36°
[ -
) cos 36°
Consider the following for the next 03 (three)
itemns :
Hp=XcosO0—-Ysin0,q=XsinB+Ycos 8
and p? + 4pq + q° = AX? + BY?, ﬂiﬂi_g. 37.
33, What is the value of 68 7
o
ia) —
2
by =
3
T
(] =3
k 4
(d) % 38,
34. What s the value of A Y
{a) 4
by 3
{cy 2
dr 1
EDF-5-DGY (11=A)

What is the value of B 7

fal -1
by 0
fed 1
d) 2

Consider the following for the next 02 (fwo)

items ;

Tt iz given that coz (8 — o) = a, cos (B — ) = h.

What is cos (e — [}) equal to 7
(@) ab+ J1-aZ J1-b?
(b} ab- m m
(c) am ~Hy1—a2
(d) ayl-b? +byl-a’

What is sin® (o — p) + 2ab cos (o — ) equal
to ?

tal .-12 + h2
(b} a®-b?
ey b%_a®
(d) —(a®+b%

If sin ¢ + cos ¢ = p, then what 1s cos” (2c1)
equal to ?

{a} pz

() p-1

@ pi2-p?
{d) pz +1
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bt

T ! R 5
39. smlgﬂrec li—%ﬂqﬁw%? o i 8 qﬁcusﬁ=%%.?ﬁ51n[%jsin[%J?ﬂﬁﬂ

4
TR 7
(a) E
{a} g
. 8
by = 5
2 b RE
() e
e m 5
{.C) E
(d 0 .
d g
(d) =
. -1 2p _11-u:12 1 2x
40, G e o
R sin 1+p2 7 Taq? 0 1-x2 |48. tan75°+cot 75° I HH FIE ?
B, O x TFesh W 2 7 (a) 2
(hy 4
Gy R4 € 243
1+pg
(d) 443
m 24
1+pgq 44. coz 46° cos 47° cos 487 cos 497 cos 5O ...
cos 135"
pg 5
@ o = T F41 ¢ 7
a) -1
@y 279 () 0
= () 1
(d) 1% wfoes
1 1
41. tan B = = 3R ¢t == 8, d @ Eqj =
A tan g it 3% L] ﬂﬁsm2ﬁ=c0539,x_ﬂﬂTD{ﬂ¢:g'a,?ﬁsinﬁ
0T g 7
g foreeh T 2 2
ita} 0 J5 +1
(a) 7
b =
6 & Y51
4
it
{e) Z JE+1
(ed
16
@ = x:
2 (d) V6 -1
16
EDF-S-DGV (12-A)
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L =
89, What is the value of ==:iﬂ_IE g S il )
5 4 2
5 T
(a) i
b g3
{h} 5
) =
dy 0
2
40. If Bin‘li2 = cu$_11—q2 = tan~} 2 = 43.
1+p l+g 1-x
then what is x equal to ?
@y 2r4
1+pq
() 44,
1+pgq
Pq
(c) —
: 1+pg.
@ 29
1-pq
45,
41. Iftan 6 = -i— and tan ¢ = é, then what is the
value of (8 4+ q) 7
(ad 0
T
by =
B
T
fch —
=
T
d i
{d) 2
EDF-5-DGY (13-A)

1

., then what is the wvalue of

(a) g

) %
{c) :2—52
(d) %

What is the value of tan 75° + cot 75°7

{a} 2
iby 4
© 243
(d) 443
What 15 the wvalue of
coa 46° cos 477 cos 48° cos 497 cos H0°
' cos 1352 7
fa) -1
{by 0
el 1
(d) Greaterthan 1
If sin20=cos38, where 0O<f8< %, then

whatis sin8 equalio?

& VB +1

by 2=

teh

(d}
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486.

47.

48,

49,

Ifg oo 2 + px + q = 0% 0 tan 19° 3N
tan 26° #, 1 F=fefgs ¥ 4 S99 = T
g7
(a)
(b)
el
(d}

n YE G uwm AP frmes wel @ avww
nin + 1) 8, = 97 92 F7 2 2

i . - B - R =
R o = i+
nmouwon

- 1
- 1
+ 2
+ 3

n

(a) 6

by 8

{c} 12

(dy 20

(1 + tan o tan ) + (tan o — tan p)° —
sec o See- [§]

foFmer =T & 7

{a} QO

(b} 1

fey 2

(dr 4

Qﬁp:cusccﬂ—mtﬂ N q = (cosec B + cot 8t
2, o1 Frafafaa 4 8 sR.91 T a8 2 2

(a) pg=1
(b) p=gq
el p+q-=1
(d) p+qg=0
50. Ifc v YT ABCH FW 1:2: 3% 9 8§
&, dt s e R e § § 0
(a) 1:2:3
(by 3:2:1
(€) 1:43:2
(d)  1:43:42
EDF-S-DGV

(14-A)

. Feafafem et o famm Fif

1. % g fme g, Ta wid §,
xeos+ysinl=p “E‘, ‘-T{ﬁ% (e, [3)
L1 S LA B C 1

|cecos B+ fsint+p| 2

2. fog (o, P& T El%:lmeﬁém

au + bff —ab

Jaﬂ +b?

I FUE W A wE R 2

ECAC I 2

(a) Had 1
(b) A 2
(c) 13T 2em

() AdAI1, 982

52. UH T x° + y* = a” 1 U a1 H1 =H THH

%@WW%IWW,@X+}?:&W
feora 2 | 99 o1 weiero 7 2 2

(al xz+y2—ax—ay+a2={}
{b} x2+y2—a_x—a}r=ﬂ'
{© x*+y*+ax+ay=0

{d} x2+}r2+ax+ay—2a2:{]
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46. If the roots of the equation X% 4 px + q=0 are |51,
tan 18° and tan 26°, then which one of the
following is correct ?

{a} gq-p=1
by p-q=1
{c) p+q=2
d)f p+q=3

47.  What is the fourth term of an AP of n terms
whose sum is nin + 1) 7
{a} 6
{b) 8
e} 12
dy 20

48, What is
{1 + tan o tan [5}2 + (tan & — tan H}E -

sec” o sec’ p
equal to ?
fa) 0O
b1
fe) 2
(d) 4

49. If p = cosec 8 —cot 8 and q = (cosec 0 + cot ),
then which one of the following is correct 7
fa)l pg=1 62.
by p=q
¢} p+g=1
(dl p+g=0

60. If the angles of a triangle ABC are in the ratio
1:2:3, then the corresponding sides are in
the ratio
fay 1:2:8
by 38:2:1
(€ 1:43:2
d) 1:43:42

EDF-S-DGV (15-A)

Consider the following statements ;

I For an equation of a line,
xcos 0 + ysin 0 = p, in normal form, the
length of the perpendicular from the
point (c, ) to the line is

|cos O+ BsinO+p|.

2. The length of the perpendicular from

¥

the point (ct, P) to the line L’E =1 is
H A

aw + bp - ab

JaZ+v? |

Which of the above statements is/are correct 7

(a) 1only

(b} 2 only

(e} Both1and 2
(d)  Neither 1 nor 2

A circle is drawn on the chord of a circle
x% + y* = a® as diameter. The chord lics on the
line x + y = a. What is the equation of the
circle 7

{a) x2+y2-ax-ny+nu=ﬂ
(b) x’+y’—ax—ay=0

K

(¢ x*+y‘+ax+ay=0

(d) x2+yz+ax+ay-2a2mﬂ
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53. UH dega W R fag A i ghar @

bd.

55.

56.

EDF-5-DGV

TMTHS 3T 8 AT 78 w0 &
oY e 6 T
a1 1 T %
(c) firsts i wreATs %

A ot ey wie Fr weEdl &
TAME

(a)

(h)

id)

gt 2x” —3y? —6 =0 &l = 8
(a) TH I
{b) T TEeT

() U aHg
(dy W AlgEeE

E%W}'zziiaxﬁ( K2=4ﬂ}’nﬁﬁ_‘ﬁ§
ta) 3:@'[;.-:1-: qﬁﬁaﬁﬁéﬁq{
(b) Fad gA-fag ™

(e} ?ﬂ?ﬁ@ﬁmﬁ?ﬁﬁﬁy+x=ﬂm
o 2

(d) “hae (4a, 40) T

famg (1, 3) ¥R (5, 1), U 7794 = € G@
Bl @ y=ox+cmfEmE | e
HH w8 2

{a) 2

by -2
ey 4

(d) -4

57, A Y@ Sy +4x=1,y=x+53M 5y + bx =3

8.

59.

60.

(16-A)

wreft F, A b W WH =R 7
{a] 1
(b)) 3

icy 6

1
dl =
; 2

IH WiEl > G R A oy = x W
8 3N (3, 2) ® BT TERCA B ?

(a)
(b}
fe) x+wv=1

{d}

WA W@ x+y-4=03x+y—4=03N
X + 8y — 4 =0 UH Brys Tavd §; g7 figw

(a) WHfgEE B
T Ioftr 2
(c) WUETE &
(d) foremang 8

(b

A + "+ dx— Ty + 12 = 0 G y-H& T I
T U WA @E fohueh aue & 0

{a} 1

(by 3
{e) 4
dy
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83. The sum of the focal distances of a point on an
¢llipse is constant and equal to the
fa) length of minor axis
(b length of major axis
(e} length of latus rectum
(d) sum of the lengths of semi-major and

semi-minor axes

54, The equation 9xZ ~ :“!;,a2 — 6 = 0 represents
(a) acircle
(b} & parabola
(] anellipse
(d) a hyperbola

55. The two parabolas y2 = dax and x* = day
intersect
(a)  attwo poinis on the line y = x
(b}  only at the origin
{¢) at three points one of which lies on

y+x=0
(d)  only at (4a, 4a}

56. The points (1, 3} and (5, 1) are two opposite
vertices of a rectangle. The other two vertices
lie on the line y = 2x + ¢, What is the value of
&7
{a) 2
{b) -2
le) 4
(d)y -4

EDF-5-DGY

a7,

58.

59.

60.

(17-A)

If the lines 3y + dx = 1, vy = x + 5 and
Sy + bx = 3 are concurrent, then what is the
value of b ?

(a) 1
iy 3
e} 6

1
(d) 3

What is the equation of the straight line which
is perpendicular to y = x and passes through
(3,2)?

(a) x-y=5
(b) x+y=5
€] =x+y=1
(d) x-y=1

The straight lines x + y -4 =0,3x+y-4=10
and x 4+ 8y -4 =0 form a triangle, which is
(a) isosceles
(b)  right-angled
(e} equilateral
(d)

scalene

The circle x° + },2 + dx — Ty + 12 = 0, cuts an
intercept on y-axis equal to

fa) 1
by 8
e} 4
dy 7
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61. A2, -3, 3), B(5, -3, — 4) 3 C(2, -3, —2) 3w
arel T B 1 Fe e g R
(a) (-3,3,-1
() (3, -3, -1)
el (3, 1,-3
{d)  (~8,=1,;-8)
62, T x? %y + 22 —Bx+ By — 102+ 1=0
e w22
"{a) B
b 2
O |
id) 3
63, TG 2x +y+22=0 3T dx -5y -4z=17%
wfteaet 3 fomg (8, 2, 1) A ToE 9Tet BHAE
1 et a1 B 2
(a) 10x = 2y + 22 = 28
by 10x+ 2y + 2z = 28
(e) 10 + 2y — 22 = 28
{d) 10x-2y-2z=24
64, TUAHIT THAGH 4x — 2y + 4z + 9 = 0 ¥K
sx~4y+5z+21=u%a"saaﬁ’rq&w%?
1
(a) -&'
1
1 =
() 2
3
(e -
¢) 5
7
d =
(d} 2
EDF-S-DGY

65.

67.

68.

(18-A)

2-318 = Taeh s #41 8 ¢

a) <1,1,1=>

by =1,0,0=>

e} =<0,1,0>

dy <0,0,1>

aft a =1 -2 +ska B =21+ § -3k
3, W (b —a).3a + b)FrEsawE
(al 106

(b) —106

(e} D3

(d) -53

afe fagedl A ot B & feufs wRw
3% — 25 + & ot 2f 44 -3k & @ AB
&+ T TR

(a) 14
(b) /29
(e 43
(d) 53

Ifz vk guRior Bys ABCH, # AC =p B, T
AB . AC + BC . BA + CA . CB e
GUE B 7

(a) p
(b}

{c)

dy p

Downloaded from www.cclchapter.com



61.

62.

63,

The centroid of the triangle with vertices
A2, =3, 3), Bl5, -3, —4) and C(2, -3, -2) is the
point

fa)  (=3,3,-1)
(bl (3,-3,-1}
e} (3.1,=-3)

(dy (-3,-1,-3}

What is the radius of the sphere
x2+y2+zg—6x+8§r—lﬂz+1=ﬂ? :
(a) 5

(b) 2

(e} 7

d) 3

The equation of the plane passing through
the intersection of the planes 2x + ¥ + 22 = 9,
4x — by — 4z = 1 and the point (3, 2, 1) is

(a) 10x -2y +2z=28

(h) 10x + 2y + 2z =28

-le) 10x+2y—2z=128

(d) 10x—-2y—-2z=24

64. The distance between the parallel planes
dx -2y +42+ 9 =0and Bx — 4y + Bz + 21 =10
is

1
1
b =
() 5
3
(c) E
i
id .
d) 1
EDF-3-DGY

a7.

{19-A)

What are the direction cosines of z-axis ?
(a) <1,1,1>
(b)) <1,0,0>
(e} =<0,L0>

d) <0,0,1>

e A ) A —» A A Il

Ifa =1i-2j+5kand b =2i + j -8k
- = - =

thenwhatis(b — a ).{3a + b legual to?
(a} 106
(bh) —1086
(c) B3
(d} -53
If the position vectors of points A and B are

M A ] N e 4]
31 -2+ kand2i +435 -3k respectively,

then what is the length of A_]g'- 7

(a) 14
(b) 28
¢} a3
(d) /53

If in a right-angled triangle ABC, hypotenuse

AC = p, then what is
_}

—» — = e
AB . AC + BC . BA + CA . CB equalto?

(a) ]:a2
(b} 2 p2
3
: P
(el 5
dy p
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69.

70.

fa) 1
74.
{by 2
tc) 3
dy 4
71. x % WM sec’ (tan ! x) o o w0 R 2
75.
(a) 2x
(b) x>+1
(e} x+1
(dy x*
EDF-5-DGV (20-A)

afesit @ =2i-67-3k st BT =41+3]-k
%W%Wﬁlﬁﬁq(sme}%

|
-

(a)
26
o .
26
el i
26
1
d ol
{d) 58

A W =8 ww wn g oo fom alRw
31 + 47 - k ot wRe 21 +« 15 + 10k

e 8 ?

72.

73.

7% fix) = log (1 + xJ B, dl
df4) + 5R1) - logy, 2 TorEeh wa & 7

fa)y 0
(b} 1
« (e} 2
(dy 4

fix) =In (yJx% +1 = x) oA Giwfes oF Bed f,

2
(a) U 6H Fed
(b) U faud wer

(¢} ®H 3R vy wem Ml

(d) o "9 2T & Ty wem

fix) = log, 10 GRT IRWIFYa & £ 6] SHA 8

(a) x>10
(b x=1l’]'¢€l€ﬁ$’=ﬁ,x>ﬂ
(e} x=z=10
(d) x=1% BEHR, x>0

3
1imw foreer TE 2 7

x—0) x
(al 0

thy 12
(¢} 24
d) 36
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69. The sine of the angle between vectors 72_-
—% A A n —r A A A
a =2i-6)-3kand b =41 +3j-k
is
1
{a} —
J26
5
by —
V26
a
¥ =
1 73,
dy =
26
70, What is the value of A for which the vectors
Y A A A M a3
3i +4j — k and <21 + Aj + 10k are
perpendicular 7
{al 1
by 2 i,
e 3
dr 4
71. What is the derivative of sec” (tan T x) with
respect to x ?
W 75.
() x°+1
fcd x+1 J
d
EDF-S-DGV (21-A)

If flx)=1logq(1+x), then what is
4fi4) + 501) — log;, 2 equal to ?

ta) 0
thy 1
(e} 2
dy 4

A funetion f defined by fix) = In (m - %)
is

(a) an even function

(b}  an odd function

{c)  Both even and odd function

id) Neither even nor odd function

The domain of the function f defined by
f(x} =log, 10 is

(a) x=10
(h) x>0 excluding x = 10.
cd x=10

(d) x> 0excluding x =1

3

1—cos” 4x |
is equal to

:!i:nu x?
(a0

by 12

fed 24

idy 36
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76.

7.

78.

79.

80.

EDF-5-DGV

r:{la‘?ﬁﬂ,mr%ﬁﬂiﬁﬁfﬁwm
BA%A W YW fir) B | A9 R1) + 12) TR
ERE L

a) 1

(b 2
(¢) 3
(d) 4

gfa fix) = 31 8, T fix) fiy) flz) foras e

£2

{a)
(b)
()
(d}

fix+v+z

fix+y+z+1)
fix+y+z+2)
fix+vy+z+3)

T &% 4 9|x| + 20 = 0 % T awafe
et il G &

(a) I

by TH

¢ =l

@l
(d) =

g fix) = sin (cos x) B, A £(x) Foreh aww 2 2
{a)
(b}
(c)
(d)

cos {vos x)
5in (— sin %)
{#in x) cos {cos x)

{— sin x) cos (cos x)

(a)
(b}
{c)
(d)

(0, o)
[0, o)
[2, 3l
(2, 3)

81.

82,

83.

(22-A)

Aol HHERIOT %:ms(g-——x}+l EFFEH%

(a) e[sec(y—x)—tan(y-x)]=¢

(b)  e"[sec(y—x)+tan(y-x)] =¢
(¢} e'secly—x) tan(y—x)=c¢
(d) e*=csecly—x) tan(y—x)

I
j |sinx —cos x| dx TeFmeh ST & 9
0

ia) O

(b)) 2(V2 -1)
© 2.2

(d) 2042 +1)

T'fﬁ y = a cos 2x + b sin 2x %,'cﬁ

{3} d—“?. +5y= 0
(b
(c)

(d)

u1g 1 Uk & M WA H1 v A "o (i
U AHARHR ATUR 3R 2dgaern ol aren)
4 g ® | A F I Aawe # gae
W Y, A e SIS R AT
TRl & =8 & w19 = g 2

fal m:(m+ 2}

(b} (m+2):m

e} 1:1

(d) I A HIE AR
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76. TForr > 0, fir) is the ratio of perimeter to area
of a circle of radius r. Then f{1) + f(2) is equal
Lo
ay 1
by 2
(e} 3
dy 4
77. If fix)= 3" then fix) fiy) flz) is equal to
) flx+y+z)
bl flx+y+z+1)
ey fHx+vy+z+2)
fdy fix+y+2+3)
78. The number of real roots for the equation
xz+9|xl +20=0is
(a) Zero
bl  One
(e Two
(d)  Three
79. If fix) = sin (cos x), then [(x) is equal to
(a) cvos(cosx)
(b} sin(—sin x)
(¢)  (sin %) cos (cos x)
(d)  {—sin x} cos (cos x)
80. The domain of the function
fixy= JIZ—x)(x—3) is
(a) (0, =)
(b} [0,)
e 2, 31.;
id) (2, 3)
EDF-5-DGY

81.

82,

B4,

84.

(23-A)

The solution of the differential equation
:—i— =cos(y—xl+1is

(a) e'lsec{y—x)—tan(y-x)]=c
(h) e*[sec{y—x)+tan({y—-x)] =¢
(c) e'seciy—x) taniy—x)=c

(d) e =c¢sec(y—x) tan (y —x)

2

J |sin x — cos x| dx isequal to
i

fal 0

(b)  2(~2 -1

(€0 242

(@) 2(42 +1)

If v =acos 2x + b sin 2x, then

(a) %ﬂyﬁ]
(b 3£§+2y=u
(c) %—43-:&
{d) %Hl}r:[}

A given gquantity of metal is to be cast into a
half cylinder (i.e. with a rectangular base and
semicircular ends). If the total surface area is
to be minimum, then the ratio of the height of
the half cylinder to the diameter of the
semicircular ends is

{a) m:lm+2)

(h)  (m+2):m

e} 1:1

id} None of the above
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-::'———.tqj:

85. Qoin cos xdx e saEn % 7
a) e+1
by e-1
{¢) e+2
id) @
; x-2 1
86. I fix)=  x# -2 8, T flix
X+ 32
TET R 7
{a) Az v2
x-2
+2
i e
W =
(c) Xx+2
x—2
(@ 201+ x)
1-x
R7. I In(x*) dx Torees s & 9
ta) 2xinix)-2x+c
{h) 2 b
X
(e} 2xin(x)+c
{d) 2@{-&—21( +c
x
EDF-5-DGY

ferereh

(24-A)

828,

88,

forg (4, 208 y* = 8x Y sroaan gt forah R
87

(a) 2
(b) 242
) 2

d) 342

y-3E H qE-fag W e we A ge-fem
T AT FH HHFA B

(a) x2+y2—2xyd—y:{]
dx

)] x2+y2+2xyd—y=ﬂ
dx

x* =3 +2xy£:5r =0

i
) dx

xg—yz—zxyd—}r =0

d
Leb) T

TR THIRTY gij +2[%]2+9y:x%
Hei # Frefofas o faar Hifaw

1. sfahe guffer &g (fefi) 18

2, waHe e i FifE () 2 B |
I FET H H BA-AVE TE B /A 2

Had 1

A 2

137 g gl

Ad 1, AR 2 i

(a)

(T}

{e)

(d)
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85, j e % cos x dx s equal to
0
a) e+1
ih) e-1
ey e+2
BO,
d) e
86. If foo=2—"=, x = —2, then what is £ '(x)
equal to ¥
4(x +2)
(a) e
x4 2
b dix—2)
00,
x+2
(e} = 5
() 201 +x)
1-x
87. Whatis j In(x?) dx equal to ?
{al SZxilnix)-2x+c
(bl 2 +e
X
ic) 2xinx)+ec
@ 2 Inlx) S
x
EDF-5-DGV {25 -A)

The minimum distance from the point (4, 2} to

}*2 = Bx 15 equal to

(@) 2
(b) 242
ey 2
(d) 342

The differential equation of the system of
circles touching the y-axis at the origin is

{a) 2+ yz— nyﬂ =0
dx

{h) 32+}r2+2x}'d—}r =0

dx

(¢} =x —Y2+2?€_Vd—y =0
dx

(d) xz—yz—z:cyﬁzl]
dx

Consider the following in respect of the
differential equation :

2 ¢ 2
d—'_"f +2Ld—‘?] + Oy =x
dx"a dx

1.  The degree of the differential equation

is 1.
2 The order of the differential equation
is 2,
Which of the above statements is/are correct ?
{a) 1only
(b} 2 only
ic) Bothland?2

(d) Neither 1 nor?2

Downloaded from www.cclchapter.com



91. argwe gHTET -31+5:u W1 S9H &6l 9491|956, TH y = ¢ sin x I - % o9 FRE ww umy
x ¥
35 (S[9) 1 & 41 & ?
a) ¢
B B
fa} x"+y =¢ b %
2 .2
(b} x"-y"=c¢ {c) 3c
(@) x°+y°=cxy id)  4e
dl x+y=¢
98. IR 5in 0 +cos =42 cos 0 B, @
92, k 1 98 79 1 & Al fix)= e Kig (cos B — sin §) TohE FA@ET 2 7
X =
; (a) - +v2cos@
x = 09T Hag ST 8 ?
() - 2sing
(a) 2
() f2sin0
(b} 1
{(d) 2sin0
el =1
@ o 97. U% g9 fSEH =H 44 cm 8, I T 4G 6t
e 22 cm B | Sffer 1 w19 w79 Y T w®n
93. a’x + bly HT A A, &l xy =c B, F1R ? 87
484
[a) abe {a) ﬁcm
{b) 2abe
(b) @nm
(¢l 3abe 21
(dy dabe (e Elcm
21
44
94. I e* @) gy FrE W R 7 (@) - om
= 98. ﬂﬁsinﬁ:—laﬁ'{tanﬁzi-%?ﬁﬂm
) r )
& f}1[5}+c 2 V3
& =Ule o a1 & 7
ih) +¢
{n{a) {a) HYH
X
(e i VA (b} aﬂﬂ
infae)
X {C} EEII!JI
d ae
ot (@)
EDF-S-DGV (26-A)
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91. What is the general solution of the differential | 95,
equation dy 42=07
dx ¥
(a) =+ ¥ 2=¢
b} x*— }rz =
(€} x*+ }'2 = CXY
dy m+y=c 96.
92, The value of k which makes
sinx x=0 1
fix)= continuous at x = 0, is
k x==10
(a) 2
hy 1
(e} =1
97.
d) 0O
93, What is the minimum value of a®x + bzy
where xy = 27
{a) abe
{h)  2Z2abc
{¢) 3abe
{d) dabc
94. Whatis j gtintal gy equal to ?
ﬂ}l_
: 98,
B g
X
b —— +¢
® fnia) ‘
EK
: —_—
{-L) in{ae) ¢
X
d ae
e Inia) S
EDF-S-DGV (27— A)

What is the area of one of the loops between
the curve v = ¢ sin X and x-axis ?

{a) ¢

i) Z2e
{e} dc
id) de

If sinB+cosl= ﬁcusﬂ,
(cos ® — sin O) equal to ?

then what is

(a) —A2cosl
(b) —+2sin0
(e J2sin0

id) Z2sin8

In a crcle of diameter 44 ¢m, the length of a
chord 1s 22 cm. What is the length of minor arc
of the chord ?

{a) %;1& cm
242

b
(b} 2

cm

121

I:C:' E I

(d) 4—: em

Ifsin B =- 1 and tan 8 = L,_, then in which
2 <3

quadrant does 6 lie ?

{a) First
(b} Second
{c}  Third
id) Fourth
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99, 3TF 1,2, 3, 4 3T 5 F T Bk o9 TR A
fopaft gn ged sanlt o weRdt B, Swfe et
6t grgfy o amefs 777 2 0
tal 36
(h) 30
(e) 24
(dy 12

100. h 391 i vF HER & Th fog A §, W1 5
THw % e gfior o 2, 399 Fi « 2 o U
fog B®, o fo5 A w0l @& 4 B, T w01
2| uf2 AB =z 2, 1 Frferfaa d @ ¥ v
wE R ?

{a)  h®(cot? ¥- cot” x) = 2°
(h) zzlit:ut,z;;r—mtz:nc}:hZ
e 1‘12[i.=1n|2_'f—Lﬂnzz-.'}=z2
id} Zﬁftﬂl‘lzy—t&inzx}‘ahz

101. 71 i v ¥ vl afgs ™ e
WA F | SgEd 9 o U Yol B ol NIRRT
R 7

1
{h i
51
1
{C] E
1
(d) T

102, 3z A 3 B 2 weAnd T uEn B
P(A) = 0-5, P(B) = 0-6 3T P(A 1 B) = 04 B, @@
P(AUR ) Toroes s 8 0
(a) 09
(h) 07
(¢} 05
(d) 03

EDF-5-DGV

103.

104.

105.

(28-A)

U yeA i faenfeEi A, B 3t o = R S 2

Rrhl oA =) Bel w0 E Trisand s %

2— 31T i 2 | gfz 3 =t a3 w9 9 9 H
7 &4 B dt 59 " & e e 2 e oum
=1 B fuet s 2

29
{ Ay
a) 39
g EL
32
25
(L} E
23
(d) 32

froqe Tt & uw g W) G (RIS
2 | %% 9 % W12 Wel 9 Igid § df 39 @
StiféeReT 41 # 7 gE O % werh 1 A 9Ee
U % e o 0 o il @ 2

{a)
ih)
(el

(el

=t ol | O | —_
=lo 2o ! il

v Foaer foeh &1 o man st @y A A9
wH ol o & e | A fag %
YT 2 A 4 T8 WIH A o wiReear =
27

tal
b
(e}

()

S| = k| = G| bS]
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100.

101.

1“2.

EDF-S-DGV

How many three;digit even numbers can be
formed using the digits 1, 2, 3, 4 and 5 when
repetition of digits is net allowed ?

{a) 36

(b} 30

fe) 24

dy 12

The angle of elevation of a tower of height h
from a point A due South of it is x and from a
point B due East of A is y. If AB = 2, then

which one of the following is correct ?
(a)  h*(cot” y - cot® x) = 2
(h)  2* (cot? y- cot” x} = h?
(e) h* {Lanﬂy—tang x) =z
(d)  7°(tan” ¥ - tan® x) = %

From a deck of cards, cards are taken out with
replacement. What is the probability that the
fourteenth card taken out is an ace ?

{a)

o
L

(b)

e

{c)

e

(d) s

If A and B are two events such that
P(A) = 0:5, P(B) = 0-6 and P(A N B) = 0-4, then
whatis PCAUB ) equal to ?

09

07

05

03

(a)
(b)
{c)
(d)

103. A problem is given to three students A, B and

104,

105.

(29-A)

C whose probabilities of solving the problem

are %, ii- and % respectively, What iz the
probability that the problem will be solved if
they all solve the problem independently ?

29
32

27
32

(a)

(b)
25
32

23
32

(e}

{d)

A pair of fair dice is rolled. What is the
probability that the second dice lands on a
higher value than does the first ?

(a) %
b 3
© %
@ =

A fair coin is tossed and an unbiased dice is
rolled together. What is the probability of
getting a 2 or 4 or 6 along with head ?

(a) %
(b %
{e)" i
@ 3
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106. 4 A, B, ¢ f1 gt £, &t 57 & s B D

107.

108.

EDF-5-DGVY

T % U Gy g2 Y urfesar Fr @ ¢

{(a) PANB)+PEMNCH+PICMNA)

iby PAMN B + PB N C)+ FC N A -

PIAnB N

PANB + BB N G+ PIC N A -
ZRAN BN O

el

(d) PAN B +PFBNC+ CN A -

SEANB NG

gf2 2 = X o1 Y @O B, O 37 d@i gggey
TUTT TR Y
{a) 1

{(b)

P{AUB}=§3ﬂTP{AﬂB}=H

Ife P(B) < P(A) B, AT P(B) fopeeh st 8 7

1
{I—l]‘ E

(b}

05 |

()

B | =
L

(d}

109. T = (100} J=Oi # e 50 B AT IR

110.

{30-A)

o fermed 10 2 | 3l e Yaw § ® 5 e
G s & @ fw 3@ 4 @ fwrfsm == e
AT B, A T HIeg A T e fome e

T B 7

th)  11-325, 1-25

(e} 11-25,2:5

(d)y 125, 2:5

afz &1 froger rEt =i e W 2, 99 39 o9
$1 wuftay wlepar @ 2 fF uzd wE W o6
i, waf 77 far gen 2 f6 arEi 9 e i
%1 TTEA 8 B 2

{a) %-
(b} %
() %
@ <
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106. If A, B, C arc three events, then what is the
probability that at least two of these events
oceur together 7
fa) PLANBI+PBNC+PICNHA)

(hy PAN B +PEBMNO+PCN A -
PANBNC
e PANB +PFBNC+PCMNA) -
ZPANBN O
(di PAN B+ PBNMNC « PIC N A -
dSPLANBNC)

107. 1f two variables X and Y are independent, then
what is the correlation coefficient between
them ?
fa) 1
(b -1
(e) 0 110.
(d) None of the above

108. Two independent events A and B are such
that P(A U B) = % and P(A N B) = _;. If
P(B) < P(A}, then what is P(B) equal to ?

I
[ —=]
gl 2
1
by =
4
1
&) =
o3
1
di =
( é
EDF-5-DGY (31-A)

109. The mean of 100 observations is 50 and the

standard deviation is 10. If 5 is subtracted
from each observation and then it is divided
by 4, then what will be the new mean and the
new standard deviation respectively 7

(a} 45,5

(b) 11-25, 1-25
(). 11:25,2:5
(dy 125,25

If two fair dice are rolled then what is the
conditional probability that the first dice lands
on G given that the sum of numbers on the
dice is 8 ?

(a) %
) %
(e} %
(d) ;
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111, 1 Fufie gt o ST R, were i % | 118, T % 52 e it wh T A & we B Ages
& e @ T A, 3w A, v i o a w9 W T SO R | 3@ W o w2
o s W v B E (g (P G T G e 3 (T 9R)

1w =0 2 5 gE © uw S T a2
1
i oo

b)) —

o
e
o6

(g) —

{e)

;Ir_n

4

(d) 7

1
(dy =
} 3

114, U U 1 1S A Hewr Fran @ afv 3w 5@
112. T o9 & o0 & Red & 8 i ae 6 I AT WS WA SIAT 8 | et 6

& § | 3R 2 3 agfes w1 & T § Fa wen &1 mren ol ww fererer wa: #
aﬁtwmﬁm%tﬁaﬁgﬁg

8 16
St e o E, A on o E R @ 3%
fa) 3 E i
{h) 5o
(b) 4 -
( 22
el 33
e}y 5
(d) %.%
d) 6 :
EDF-S-DGV (32-A)
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111.

114.
112, There are n socks in a drawer, of which
3 zocks are red. If 2 of the socks are chosen
randomly and the probability that both
selected socks are red is ; ., then what is the
valueofn?
{a) 3
by 4
el 5
d} 6
EDF-3-DGEY ({33-A)

Two symmetric dice flipped with each dice
having two sides painted red, two painted
black, one painted wellow and the other
painted white. What iz the probability that
hoth land on the same colour ?

{a) faﬁ
(b) g
(e f—S
G %

113. Two cards are chosen at random from a deck

of 52 playing cards. What is the probability
that both of them have the same value ?

{a)

(b}

(c)

(d)

In eight throws of a die, 5 or 6 iz considered =
success. The mean and standard deviation of
total number of successes is respectively given
by

(a) g, 195
() % %
(e % %
() i %
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115. 21 5ot A 3R B 39 ywK 3 6 A 3R B
oAt a2 | A PA) = 05 3T P(B) = 06
2, a1 P(A|B) T AH #2182
(a) %
1
®)
ic) 3
]
1
{d) 5
116. Frfafias seAt w fT=n $ifau
1. °Hl % U gY=4 H 9% Gl 9 o
famert = i IMTEER Ted I EAl
8
2, _%Hﬁfﬁﬁéﬁ%%ﬁ
TR AT > WER > Fge (WiE) |
I FeAl W wEAvE B AR 2
(a) oA 1
(b) A 2
(e} 13 2 gE
(d) AW 1, TE2
117. oF &fifm X 3t v % <9 oedey O 06
2 | aefess = Z ot W 39 g 9fonfia @
ﬁz:x+53ﬂTW=§%tzaﬂtw%aﬁa
HeEHEy U w1 R 7
(al 01
b} 02
(¢} 036
(d) 06
EDF-S-DGV ( 34

118. I 1 3fft 20 % o= F @eft = QU] 1 3 &
o =t e S 2, afwrdt defi s owE
FTE 7

{a) 9975
(b) 19975
(c) 29925

(d) 889-25

119, 30 =1d = widswa #=1 # 7 et 99 &1 0%
srafts feg 3o ofify & omen 3% F5 %

siferes @i 2 2
(a) %

{b) % |

{c) %

) == Fauife 8 fe = a=a

120. 3z A 3 B2 oA &, 79 A A T A A
U B gfed B9 & wilma s g 2

(a) P(A)+P(B)
(b)  PAUB)

icd PANMNB)

(d) P(A) P(B)

—A)



115. A and B are two events such that A and B
are mutually exclusive, If P(A) = 0:5f and

P(B) = 0-6, then what is the value of P(A|B) ?

1

ta}) =

Y5
1

(hy =
a
2

{c) E

: 1

idy =
3

119.
116. Consider the following statements :

1.  The algebraic sum of deviations of a set
of values from their arithmetic mean is
always zero,

2, Arithmetic mean > Median > Mode for a
symmetric distribution,

Which of the above statements is/are correct ?

{a)  1only

(h} 2 only

(c) Bothland2

(d} Neither 1 nor 2

120.
117. Let the correlation coefficient between X and

Y be 06, Random wariables Z and W are

defined as Z =X + 5 and W = g—.W'hat is the

correlation coefficient between 7 and W ?

(a) 01

b 02

(e} 036

dy 06

EDF-5-DGY (35-A)

118. If all the natural numbers between 1 and 20

are multiplied by 3, then what is the variance
of the resulting series 7

(a) 9975

(b} 19975
(e} 28925
(d) 399256

What is the prebability that an interior point
in a circle is closer to the centre than to the
cireumference ?

1

( &

a) 7

1

by =

E 2

3

( i

(] 1
id) It cannot be determined

If A and B are two events, then what is the
probability of occurrence of either event A or
event B ?

(a) P(A) + P(B)
(b} P(AUB)
(e} PANB)
(d}  P(A) P(B)
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